

ಸಂಪುಟ-155 Volume-155 ಬೆಂಗಳೂರು, ಗುರುವಾರ ,11, ಜೂನ್, 2020(ಬ್ಯೇಷ್ಠ ,21, ಶಕವರ್ಷ ೧೯೪2) Bengaluru, THURSDAY, 11, JUNE, 2020( JYAISTHA ,21, ShakaVarsha 1942) ಸಂಚಿಕೆ -24

Issue - 24

No. RD 43 BHUDAA 2019

## **GOVERNMENT OF KARNATAKA**

Karnataka Government Secretariat, M.S. Building, Bengaluru, dt: 11.12.2019

## **NOTIFICATION**

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Government of Karnataka, Minority Welfare Department has forwarded the proposals received from the Deputy Commissioner, Addl. Commissioner of Survey, Chikkamagaluru District, Chikkamagaluruto the Board in letter No.wakf/CR/06/19-20, dated:17.06.2019. It is verified and approved by the Administrator, Karnataka State Board of Auqaf on11-09-2019. The Govt. of Karnataka is hereby notify that the following immovable properties are Waqf properties.

## Name of the District: CHIKKAMAGALURU

Name of the Taluk: CHIKKAMAGALURU

				Locat	ion & Details of Waqf Pro	perty.							Administr	Schem	
Sl. No.	Name & Address of the Institution	Sunni or Shia	City/ Town/ Village	Sy. No./ CTS No. /Khata No.	Extent ( Acre-Gunta / Sq. Ft.)	Boundaries	Value Rs in Lakhs	Year of creation of Waqf/ C.R. No. and Date	Name and Address of Waqif	Beneficia ries if any	Object of Waqf	Gross Annual Income of Waqf	ation by Custom/ Hereditary or Settled by Court or Hereditary	e appro ved by Board	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16

1.	Madarasa-e- MadeenathulUloom and Shopping Complex, Agasara Beedi as additional property of Masjid-e-Lababeen, M.G. Road, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	K.T. No. 4878/ 3284	$\frac{(39'+60')}{2}$ X $\frac{(76'+80')}{2}$ = 3,861 Sq. Ft.	North:Naganna's Trust's Property South:Srinivas Shetty's House East:Agasara Street West: Jain Temple	80.00	KTW/REG/3 /CMR/ 1990-91, Dtd: 12-09-1990	Muslim Jamath	Muslim Jamath	Madarasa and Complex	12,37,823/	By custom	-YES	Khata Effected
2.	Madarasa-e-Hayathul Islam, Market Road, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	Asst. No. 10469/ 10469/60	30' X 55' = 1,650 Sq. Ft.	North: Road South: Shakeel Ahmed's Residence East:Nissar Ahmed's Residence. West: Rahman Sab's Residence.	38.00	KTW/REG/ 3/CMR/ 1994-95, Dtd: 02-07-1994	Muslim Jamath	Muslim Jamath	Madarasa		By custom	Deem ed Appro ved	Khata Effected
3.	Zumra-e- Ahamadiya, Shariff Galli (Street), Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	Asst. No. 6504/ 10288	98 ½' X 35' = 3,447.5 Sq. Ft.	North: Anwar Ahamad's Building South: Road East: Galli Road (Conservancy) West: Road	70.00	KTW/REG/ 1/CMR/ 1992-93, Dtd: 22-06-1992	Muslim Jamath	Musli m Jamath	Maqtab	5,10,934/-	By custom	-YES	Khata Effected
4.	Masjid-e-Aqsa, Anjuman-e-Rifahul Muslimeen,	Sunni	Chikka magalu	Asst. No. 106/ 10740 /8878/17	75' X 39' = 2,925 Sq. Ft.	North: Road South: Road East: Rehman Pasha's Residence West: Road	50.00	KTW/REG/ 2/CMR/ 1999-2000, Dtd: 28-12-1999	Muslim Jamath	Muslim Jamath	Masjid	1,75.000/-	P.,	-YES	Khata Effected
4.	Azad Nagar, Tamil Colony, Chikkamagaluru Town.	Sunni	ru Town.	Asst. No. 239/ 17033/ 10753	38' X 24' = 912 Sq. Ft	North: Road South: Road East: Zainab's House West: K.P. Challappa's House	14.00	KBW/REG/ 05/CMR/ 2009-10, Dtd: 31-10-2010	Jamath	Jamau	Pious Purpose	1,73,000/-	By custom	-YES	Aniata Effected

	Anjuman-e-Islamia Building,		Chikka magalu	Asst. No. 11/28/ 7019	54' X 34' = 1,836 Sq. Ft.	North: Private Property.  South: Govt. Property.  East: Road.  West: Anjuman Building Property.	70.00	KBW/REG/ 2/CMR/ 1994-95,	Muslim	Muslim	Pious				As Per
5.	Andechattar, Chikkamagaluru Town.	Sunni	ru Town.	Asst. No. 7012/ 5141/ 2793	76' X 26' = 1,976 Sq. Ft.	North: Private Property. South: Road East: Anjuman Building and Govt. Property. West: School Play Ground.	01. 10.00 (One Crore Ten Lakhs	Dtd: 24-01-1995	Jamath	Jamath	Purpose	7,74,516/-	By custom	-YES	Possession
6.	Masjid-e-Usman, Mavinatopu, (Mango Garden), Christian Colony, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	Old Asst. No. 282/5088/ 3434, New. Asst. No. (11-2- 504- 155B)	40' X <u>30'+40'</u> 2 = 1,400 Sq. Ft.	North: Khaleel Sab Residence South: Road East: Road West: Akbar Sab's Residence	11.00	KTW/REG/ 8/CMR/ 2003-04, Dtd: 23-03-2004	Muslim Jamath	Muslim Jamath	Masjid	2,15,780/-	By custom	-YES -	Khata Effected
7.	MohammadiyaNowja wan (Shadi Mahal) Anjuman Committee, Ramanahalli, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	Asst. No. 16120, 346/307	30' X 70' = 2,100 Sq. Ft.	North: Road South:Private Property.  East: Road West: Private Property.	10.50	KTW/REG/ 16/CMR/ 1987-88, Dtd: 30-04-1988	RDPR Govt. Land. Waqf By User	Muslim Jamath	Shadi Mahal	70,728/-	By custom	-YES -	Khata Effected
				PR No. 3252/2 & 3153/2 (Old No. 3004) M.L. No. 2220	$80' \text{ X } \frac{42'+38'}{2}$ $\frac{49'+48'}{2} \text{ X } \frac{34'+31'}{2}$ $= 4,776 \text{ Sq. Ft.}$	North: Ashraya Hospital House. South: Abdul Kasta's House. East: Road. West: Roashad's House	95.00	KTW/REG/1	Mariam Bi/ Sulaim an Sab, Chikka magalu ru		Masjid				As per CR = 20' X 26' = 520 Sq. Ft.  As Per Possession = 760 Sq. Ft.  Excess = 240Sq.

	Makka Masjid, Mallanduru Circle,		Basava					/ CMR/		Muslim		5,26,706/-	Ву	-YES	Ft.
8.	Chikkamagaluru Town.	Sunni	nahalli	Khata No. 8404 /6457	19' X 40' = 760 Sq. Ft.	North: Nagesh Gowda property. South: Anwar Property. East:Makka Masjid. West: KGN Road.	8.00	1985-86, Dtd: 20-06-1986	Muslim Jamath	Jamath	Shops		custom	-	As Per C.R. =2,730 Sq. Ft. As Per Possession= 4,776 Sq. Ft. Excess = 2,046 Sq. Ft. Khata Effected
9.	Masjid-e- MohammadiyaVijaya puraExtention, Gowrikaluve, RamanahalliChikkam agaluru Town.	Sunni	Chikka magalu ru Town.	Asst. No. 13162/13 162/43	26' X 53' = 1,378 Sq. Ft. 77' X 117' = 9,009 Sq. Ft. 56' X 34' = 1,904 Sq. Ft. Total = 12,291 Sq. Ft.	North: Road  South: Road  East: Afsar Pasha and Lakshman's House  West: Kamalamma's House and Road.	50.00	KTW/REG/2 /CMR/ 2005-06, Dtd: 27-09-2005	Muslim Jamath	Musli m Jamath	Masjid	63,346/-	By custom	-YES	As Per C.R . = 3,600 Sq. Ft. As Per Possession = 12,291 Sq. Ft. Excess = 8,691 Sq. Ft. Khata Effected
10.	Masjid-e-Bilal , Tippu Nagar, Chikkamagaluru Town.			Asst. No. (1) 17333 /11025 (2) 9011/ 8362/A/ 8133 (3) 17334/ 11026	$\frac{(85.7' + 84.6')}{60'}X$ $= 5,109 \text{ Sq. Ft.}$	North: Private Property (Abdul Samad's Residence) South: Road East: Road West: Road	65.00	KTW/REG/ 17/CMR/ 1987-88, Dtd: 27-05-1988			Masjid				As Per C.R . 30' X 60' = 3,600Sq. Ft.  As Per Possession = 5,109 Sq. Ft.  Excess = 3,309 Sq. Ft. Khata Effected
	Madarasa-e- Misbah-Ul-Uloom, as additional property of Masjid-e-Bilal, Tippu Nagar, Chikkamagaluru Town.	Sunni	Chikka magalu ru	Asst. No. 17192/ 10895	30' X 50' = 1,500 Sq. Ft.	North: Road  South: Private Property  East: Private Property  West: Road	20.00	KBW/REG/ 7/CMR/ 1993-94, Dtd: 17-04-1995	Muslim Jamath	Muslim Jamath	Madarasa	7,70,863/-	By custom	-YES	As Per C.R. 15'

11.	Masjid-e-Firdouse, Pension Mohalla New Extention, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	(1) Asst. No. 5884/ 3468  (2) Asst. No. 6030/ 3613	$\frac{(23.1' + 70.6')}{2} + \frac{(21.7' + 50.1')}{2} \times \times \frac{59.4' + 53.4'}{2} = 4,706.58 \text{ Sq. Ft.}$	North: Road South: Private Property East: Road West: Private Property	80.00	KBW/REG/ 5/CMR/ 1998-99, Dtd: 13-01-2000	Muslim Jamath	Musli m Jamath	Masjid	3,61,500/-	By custom	-YES	As Per C.R. 5,733 Sq. Ft. As Per Possession = 4,706.58 Sq. Ft. Less = 1,026.42 Sq. Ft. Khata Effected
				Asst. No. (Old) 6161 (New) 9712 /11819	22' X 27' =594 Sq. Ft.	North: Vacant Site & Road. South: Vacant Site East: Vacant Site West: Vacant Site	5.00	KBW/REG/ 5/CMR/ 1995-96, Dtd: 17-09-1999			School Building				As Per C.R. 25' X 30' = 750 Sq. Ft. As Per Possession = 594 Sq. Ft. Less = 156 Sq. Ft
12.	Masjid-e-Ilahi, Dantaramakki, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	Asst. No. 11292, (Old) No. 9182 /5863	$\frac{(105' + 120')}{2}$ $X$ $\frac{(148' + 131')}{2}$ = 15,693, Sq. Ft.	North: Road South: Road East: Road West:Dasegowda's House.	95.00	KTW/REG/ 5/CMR/ 1999-2000, Dtd: 10-03-2000	Muslim Jamath	Muslim Jamath	Masjid and Dargah	1,72,000/-	By custom	-YES	As Per C.R.  124'+161' 2  X 112 = 15,963 Sq. Ft.  As Per Possession = 15,693 Sq. Ft.  Less = 270 Sq. Ft.  Khata Effected
				Asst. No. 11819 (Old No,) 6261/ 6712	(100' + 110') 2 X (121' + 103') 2	North: Road South: Road East: Road	78.00				Vacant Land				As Per C.R. 100' x 130' = 13,000 Sq. Ft. As Per Possession = 11,760 Sq. Ft. Less = 1,240

					= 11,760, Sq. Ft.	West: Road									Sq. Ft.
															Khata Effected
13.	Al-Badriya Jumma Masjid, VijayapuraExtention, Ramanahalli, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	Sy. No. 31/1 Sy. No. 31/2	9' X 71' = 639 Sq. Ft.  (75'+66') 2 X (88'+97') 2 = 6,521 Sq. Ft.  Total= 7,160 Sq. Ft.	North: Private Property South: Road East: Nazeer Sab's Residence West: Private Property	57.00	KSBW/REG / 2/CMR/ 2001 Dtd: 15-07-2002	Muslim Jamath	Musli m Jamath	Masjid	11,400/-	By custom	Deem ed Appro ved	As Per C.R. = 67' X 65' 4,355
14.	HamzathulQarar Jumma Masjid, Shanthi Nagar, Uppalli, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town.	Sy. No. 27	150' X 60' = 9,000 Sq. Ft.	North: Road South: Road East: Ashraya Layout West: Road	8.00	KTW/REG/ 2/CMR/ 2000-01, Dtd: 22-05-2001.	Waqf By User Govt. Land.	Muslim Jamath	Masjid	67,100/-	By custom	Deem ed Appro ved	As Per C.R. = 125' X 61' = 7,625 Sq. Ft.  As Per Possession= 9,000Sq. Ft.  Excess = 1,375Sq. Ft.
			Basava nahalli, Chikka magalu ru Town.	Asst. No. 8/5164 /3591  New Asst. No. 5163 /3530	25' X 48 ½' = 1,212.5 Sq. Ft.	North: Jamia Masjid Road. South: Syed Peer and Mohammad Mansoor's House. East: Govt. Urdu School. West: Jamia Masjid	7.00	KTW/REG/ 2/CMR/ 2003-04,	Muslim Jamath		WazuKhan a				Khata Effected
15.	Additional Property of Jamia Masjid, Board of Trust Muslim Endowments, Chikkamagaluru	Sunni	Hirema galuru.	Sy. No. 130	0A-10G	North: Road. South: R. Sy. No. 131. East: Shaneshwara Temple. West: R. Sy. No. 133.	20.00	Dtd: 30-08-2003		Muslim	Khabrastan		By custom	-YES	As Per C.R. = 0A-08G As Per Possession = 0A- 10G Excess = 0A-02G
	Town.					North: KalleshaNara ganahalli Property. South: Govt.		KBW/REG/ 4/CMR/	Waqf	Jamath					

	- T	ı				T =	1		_	ı			I		
			Indavar a	Sy. No. 589	10A-08G	Property. East: Naveen Indavara Property. West: M.L. Murti Land.	80.00	1992-93, Dtd: 26-05-1993	By User Govt. Land		Eidgah and Khabrastan				Khata Effected
			Chikka magalu ruTow n.	Sy. No. 9999/P2 Asst. No. 1159/ 12930	07A-22G	North: Govt. Property South: Hindu Burial Ground. East: Tarikere Road. West: Channel	2.00. 00 (Two Crore	KSBA/REG/ 60/CMR/ 2017-18, Dtd: 21-05-2018.			Khabrastan				Khata Effected
16.	Masjid-e- Al-Farooq, Pampa Nagar, (Tippu Nagar), Chikkamagaluru Town.	Sunni	Chikka magalu ru Town	Asst. No. 83/975  Asst. No. 6765/1/12602/1  Asst. No. 6765/2/12602/2	$\frac{(19' + 18')}{2}$ $X$ $\frac{(16' + 15.5')}{2}$ $= 291.37 \text{ Sq. Ft.}$ $40' \times 35'$ $= 1,400 \text{ Sq. Ft.}$ $\frac{(36' + 40')}{2} \times 30'$ $= 1,140 \text{ Sq. Ft.}$	North: Private Property. South: Asst. No. 6765/2/12602/2 property East: Private Property. West: Private Property. North: Private Property. South: Road East: Own Property West: Road.  North: Own Property and Private Property. South: Road East: Private Property. South: Road East: Own Property West: Own Property.	4.50 25.00	KTW/REG/ 18/CMR/ 2004-05, Dtd: 04-01-2005	Muslim Jamath	Musli m Jamath	Masjid	2,46,116/-	By custom	-YES	As Per C.R 35' X 40' = 1,400 Sq. Ft. & 30' X 36' = 1,080 Sq. Ft.  Total Sq. Ft. 2,480 Sq. Ft. As Per Possession= 2,831.37 Sq. Ft.  Excess = 351.37 Sq. Ft. Khata Effected
	Farooqiya Arabic Madrasa as Addl. Property of Masjid-e- Al-Farooq, Pampa Nagar, Chikkamagaluru Town.			Asst. No. 20631	$\frac{(40' + 43')}{2}$ X $\frac{(71.8' + 75')}{2}$ = 3,046.1. Sq. Ft.	North: Private Property South: Road East: Private Property West: Private Property	28.00	KTW/REG/8 /CMR/ 2002-03, Dtd: 30-09-2002			Madrasa				As Per C.R. = 70' X 40' 2,800Sq. Ft.  As Per Possession= 3,046.1S Sq. Ft.  Excess = 246.1Sq. Ft.

	NooraniMasjid ,			Sy. No. 51 and 51/1P	0A-04G.	North: Masjid Property South: Abdul Rasheed Property East: Road West: Road	40.00	KTW/REG/ 1/CMR/ 1986-87 Dtd: 02-06-1987			Masjid and Madarasa				As Per C.R. 0A- 03G.
17.	and Noor-e- Mohammadia Arabic Madrasa, Gowrikaluve, Ramanahalli, Chikkamagaluru Town.	Sunni	Chikka magalu ru Town	Asst. No. 10605/ 36/144 Asst. No. 11189/ 904/53	0A-03G	North: Masjid Property and Private Property. South: Noorani Masjid East: Road West: Road	30.00	KTW/REG/ 1/CMR/ 1986-87, Dtd: 02-06-1987	Muslim Jamath	Musli m Jamath	(Houses) Pious Purpose	74,800/-	By custom	-YES -	As Per Possession 0A-08G Excess 0A-05G
				Sy. No. 53/1AP1 53/P2	0A-01G	North: Private Property. South: Noorani Masjid Property. East: Road West: Road.	10.00	KTW/REG/ 2/CMR/ 1980-81, Dtd: 24-07-1981			Vacant Site				Khata Effected
18.	Masjid-e-Akbari and Arabic Madrasa, Halenahalli, (BalehalliGrama), Chikkamagaluru Town.	Sunni	Chikka magalu u Town	Asst. No. 6795	80' $X \frac{88' + 80'}{2}$ =6,720 Sq. Ft.	North: Road South: Private Property East:Gally. West: Private Property.	25.00	KTW/REG/ 14/CMR/ 1985-86, Dtd: 23-06-1986	Muslim Jamath	Muslim	Masjid and Madrasa				Masjid and Madrasa are in the same Boundary. Khata Effected
	Khabrastan As Additional Property belonging to Masjid-e-Akbari Halenahalli. Chikkamagaluru Town.	Sunni	Bale halli	Sy. No. 52/1	1A-25G	North: Road South: Private Property East: Road West: Road	01.00. 05 (One Crore Five Lakhs	KBW/REG /3/CMR/ 1997-98, Dtd: 17-09-1998.	Waqf By User Govt. Land	Jamath	Khabrastan	1,11,700/-	By custom	-YES -	Khata Effected
19.	Malnad Muslim Welfare Academy (R), Indavara Village, ChikkamagaluruTalu k .	Sunni	Inda vara	Sy. No. 559/2 Asst. No. 236/ 99-2000	360' X (150' + 205') 2 = 63,900 Sq. Ft.	North: Road South: Channel East: : Narayan Rao's House West: :Basera Madrasa Property.	1.00. 20 (One Crore Twen ty Lakhs	KBW/REG /3/CMR /1999-2000, Dtd: 07-01-2000	Muslim Jamath	Musli m Jamath	Shadi Mahal	3,89,382/-	By custom	-YES -	Khata Effected

-															
			Mache gondan ahalli	Sy. No. 227	1A-07G	North:Settihalli Village Border South: Sy. No. 228. East: Road West:Settihalli Village Border.	2.20				Khabrastan				Khata Effected
20.	Khabrastan and Vacant Site at Machegondanahalli Village and Khabrastan at Settihalli Village as Addl. Property belonging to Jamia Masjid, Gullenpete,	Sunni	Satti halli	Sy. No. 329	1A-07G	North: Yalagadige Village Border. South: Sy. No. 329 adjacent property. East: Sy. No. 329 adjacent property. West: Yalagadige Village Border	2.20	KTW/REG/1 /CMR/ 1983-84, Dtd: 29-04-1988	Waqf By User Govt. Land	Musli m Jamath	Khabrastan		By custom	-YES	As Per C.R. 1A- 07G As Per Possession 0A-18G Less = 0A-17G Khata Effected
	ChikkamagaluruTaluk.		Mache gondan ahalli	Sy. No. 233/5	0A-01G	North: Govt. Bus Stop. South: Private Property. East: Private Property. West: Road	1.00				Vacant Site				As Per C.R. 0A- 02G As Per Possession 0A-01G Less = 0A-01G Khata Effected
	Muslim Khabrastan as Addl. Property of Jamia Masjid, Gullenpete, Chikkamagaluru Taluk	Sunni	Satti halli	Sy. No. 30/1	9A-08G	North: B.S.N.L. Office South: Sy. No. 31 and 53. East: Road. West: Remaining Land of Sy. No. 30 & Sy. No. 145,32,35.	15.20	KTW/REG/8 /CMR/ 1981-82, Dtd: 01-06-1982	Waqf By User Govt. Land	Muslim Jamath	Khabrastan		By custom	-YES -	As Per C.R. 9A- 08G As Per Possession 6A-10G Less = 02A-34G Khata Effected
21.	Dargah HazrathDaDa Mohammed Ali Sha (R.A.), Handi Village, ChikkamagaluruTalu k .	Sunni	Handi	Sy. No. 44	2A-07G	North: Road South: Pond (Kere) East: Ashrama Property. West:Eishwarappa Property.	5.20	KTW/REG/ 8/CMR/ 1981-82, Dtd: 03-06-1982.	Waqf By User Govt. Land	Muslim Jamath	Dargah	45,000/-	By custom	-YES	As Per C.R. 2A-18G As Per Possession 2A-07G Less = 0A-11G. Khata Effected
22.	Jamia Masjid, Gonakal Village, Devarahalli, Chikkamagaluru Taluk	Sunni	Gonaka	Sy. No. 89 PR. No. 892	77' X $(50' + 66')$ = 4,462 Sq. Ft. 25' X $66' + 63'$ 2 =1,612.5 Sq. Ft. Total = 6,074.5	North:Maqbool Ahmed's Property. South: Madrasa. East: K. Mohammed's Property. West: Maqbool Ahmed's Property.	3.60	KTW/REG/ 2/CMR/ 1987-88, Dtd: 19-03-1988	G.M. Maqbo ol Ahmed S/o. G.M. Ghouse	Muslim Jamath	Masjid	15,000/-	Ву	Deem ed Appro	Khata Effected

	Madarasa-e-Noorul Islam, Gonakal Village, (Devarahalli), Mallenahlli Post, ChikkamagaluruTalu		1	Sy. No. 89 PR. No. 893	Sq. Ft.  77' X 16'  = 1,232 Sq. Ft.	North: Masjid. South: Road. East: Masjid Property. West: Maqbool Ahmed's Property.	1.10	KTW/REG/ 1/CMR/ 1987-88, Dtd: 09-03-1988	Mohiyu ddin, De vara halli.		Madrasa		custom	ved	
22	k . Masjid-e-Quba,	G	Gavana	Khata No. 434	(220' + 223') 2 X (62' + 73') 2 =14,951 Sq. Ft.	North: Road. South: Urdu School and Road. East: Samuel's House and Vazeer Khan's House. West: Road.	22.00	KTW/MSC/ 1/CMR/ 1992-93, Dtd: 18-10-1988	Muslim Jamath	M	Masjid	1.29.900/	D.	WEG	As Per C.R. 225' X 85' = 19,125Sq. Ft. As Per Possession = 14,951Sq. Ft. Less = 4,174 Sq. Ft. Khata Effected
23.	Adishaktinagar, Chikkamagaluru Taluk	Sunni	halli	Sy. No. 139	04A-00G	North: Govt. Land. South: Road. East: Christian Burial Ground. West: Hindu Burial Ground.	8.00	KBW/REG/ 42/CMR/ 2012-13, Dtd: 28-04-2015	Waqf By User Govt. Land	Muslim Jamath	Khabrastan	1,28,800/-	By custom	-YES	As Per C.R. 4A-00G As Per Possession = 3A-20G Less = 0A-24G Khata Effected
24.	Salmanul Faris Jumma Masjid and Arabic Madrasa, Adishaktinagar, Chikkamagaluru Taluk.	Sunni	Gavana halli	V.P. Asst. No. 365	50' X 30' = 1,500 Sq. Ft.	North: Jayanth House. South: Road. East: Nagraj's House. West: Road.	2.20	KTW/REG/ 1/CMR/ 2008-09, Dtd: 27-08-2009	Muslim Jamath	Muslim Jamath	Masjid and Madrasa	64,000/-	By custom	-YES	Khata Effected
25.	Muslim Khabrastan as Addl. Property belonging to Jamia Masjid, Bigganahallipete, Chikkamagaluru Taluk.	Sunni	Biggan ahalli	Sy. No. 249	0A-28G	North: Tagaduru Gad i. South: K.R. Pete. East: Sy. No. 250. West: Sy. No. 248.	2.25	KTW/REG/ 8/CMR/ 1990-91, Dtd: 02-03-1991	Waqf By User Govt. Land	Muslim Jamath	Khabrastan		By custom	Deem ed appro ved.	Khata Effected
26.	MadeenaMasjid as Addl. Property of Hazrath Asha Bun Nabi Makan, Gorigandi, Chikkamagaluru Taluk.	Sunni	Devada na	Sy. No. 214	30' X 40' = 1,200 Sq. Ft.	North: River South:Makan Property. East:Makan Property. West:Makan Property.	1.20	KTW/REG /3/CMR/ 1992-93, Dtd: 19-11-1992.	Muslim Jamath	Muslim Jamath	Masjid	1,23,350/-	By custom	-YES -	Khata Effected

	Jamia Masjid and its allied Property, Aldur, Chikkamagaluru	Sunni	Aldur	Sy. No. 61/19	0A-11G	North: C.A Suresh Property South:Balehonnur toChikkamagaluru Road East:Adjacent Sy. No. 61/18, Abbas Yousuf property West:Adjacent Sy. No. 61/20, Jamia Masjid	11.20	KTW/M-3/ REG/2/ CMR/ 1987-88			Masjid				Khata Effected
27.	Taluk.			Sy. No. 61/20	0A-08G	property.  North: C.A Suresh Property South:Balehonnur to Chikkamagaluru Road East:Adjacent Sy. No. 61/19, Jamia Masjid property. West: Nagraj S/o. Umapathi Property.	8.90	Dtd: 04-04-1988							
			Chikka magara valli	Sy. No. 139/4	0A-18G	North: Sy. No. 136 and Private Property. South: Jamia Masjid Property East: Private Property West: Adjacent Sy. No. 139/3	15.00		Muslim Jamath	Muslim Jamath		7,01,811/-	By custom	-YES	
			Chikka magara valli	Sy. No. 159/1	1A-18G	North: Govt. Property South: Road East:Billava Community Property West: Govt. Property	5.40				Eidgah				As per CR & RTC 01A-18G, As per
	Eidgah, Khabrastan, Muslim Hostel, Arabic School,		Aldur	Sy. No. 60/49	0A-03G	North: Private Property South: Road East: Private Property West: Private Property	1.10	KBW/REG/1			Vacant Site			-	possession 01A- 08G, less 0A-10G Khata Effected

	Vacant Site, belonging to Jamia Masjid, Aldur, ChikkamagaluruTalu k.	Sunni	Aldur	Sy. No. 62	0A-3	39G	North: Road South: Govt. Property East: Hindu Burial Ground West: Ibrahim Khaleel House North: Police	3.70	/CMR/ 1998-99, Dtd: 11-01-1999			Khabrastan				As Per C.R =0A-05G
			Havv alli	Sy. No. 6	0A-6	½ G	Station, Aldur South: Panchayati Open Property East: Road and Panchayiti Office West: Road	8.50				Muslim Hostel Building				As Per Possession= 0A-6 ½ G Excess 0A-1 ½ G Khata Effected
			Havv alli	Sy. No. 6	0A-0	)2G	North: Muslim Hostel Building & Road. South:Panchayiti Open Site. East:PanchayitiOffic e & Muslim Hostel. West: Road.	1.50				Arabic Madrasa				Khata Effected
			Chikka magara valli	Asst. No. 35	194' X <u>2</u> =5,917	2 Sq. Ft.	North: Iliyaz Pasha and Imtiyaz Pasha. South: Abdul Aziz. East: Road. West: Road.	4.20				Houses				As Per C.R. (97' + 200') 2 X 133' = 19,750.5 Sq. Ft. As Per Possession = 5,917 Sq. Ft. Less= 13,833.5 Sq. Ft. Khata Effected
28.	Al- MasjidulHamzathulQ ararJummma Masjid, Aldur, ChikkamagaluruTalu k .	Sunni	Aldur	D.R. Asst. No. 188-231	60' X 75' = 4,500 Sq. Ft.	South: 1 East: : R	nateeja Ibrahim's House. Raheem's Land .oad Raheem's Land	11.50	KTW/REG/ 05/CMR/ 2002-03, Dtd: 15-07-2002	Muslim Jamath	Muslim Jamath	Masjid	12,000/-	By custom	-YES -	Khata Effected
				Asst. No. 131/1	60' X 150' = 9,000 Sq. Ft.	South: V Bank	nahanaz Banu Hotel .S.S.N.L. Sahakara naboob Saheb Land. oad.	9.00	KBW/REG/ 44/CMR/ 2012-13, Dtd: 16-04-2013	Muslim Jamath		Vacant Site				Khata Effected

-	Additional Property of Buden Nagar Jamia	Sunni	InamD attatrey aPeetha	Sy. No. 280/P2	1A-20G	North: Govt. Property.  South: I.D. Peeta Road.  East: Govt. Property.  West: I.D. Peeta Road.	4.50	KTW/REG/2 /CMR/ 1991-92,	Waqf	Muslim Jamath	Khabrastan	 By	-YES	Khata Effected  Khata Effected  As Per C.R. 2A-0G As Per
29.	Masjid, Attigundi Village, Chikkamagaluru Taluk.	Sunm		Sy. No. 280/P2	0A-20G	North: Road South: Road East: Sy. No. 280. West: Road.	1.60	Dtd: 08-01-1992	By User Govt. Land		Eidgah	custom	-	Khata Effected
			Chikka magalu ru Town	Asst. No. 6827/ 48/77	40' X 60' =2,400 Sq. Ft.	North: Almas Property.  South: Site No. 47 (UzmaShaista House)  East: Syed Maqdoom Pasha's Property.  West: Road.	20.00	KBW/REG/ 16/CMR/ 2014-15, Dtd: 15-04-2015	Muslim Jamath		Vacant Site			Khata Effected
30.	Muslim Khabrastan (Sunni) as Addl. Property of Anjuman-e-Islamia, Hosahallipete Village, Chikkamagaluru Taluk.	Sunni	Maili mane	Sy. No. 159	2A-0G	North: Road.  South: Coffee Estate.  East: Road.  West: Coffee Estate.	3.50	KTW/REG/1 6/CMR/ 1992-93, Dtd: 17-02-1993	Waqf By User Govt. Land	Muslim Jamath	Khabrastan	 By custom	-YES	0G
31.	Addl. Property belonging to Jamia Masjid, Belwadi, Chikkamagaluru	Sunni	Bela wadi	Asst. No. 271	30' X 40' = 1,200 Sq. Ft.	North: Road South: Road East:Panchayiti Property West:Ramayya's House	1.50	KBW/REG/2 /CMR/ 1997-98, Dtd: 06-02-1999	Muslim Jamath	Muslim	Vacant Site	 By	-YES	Khata Effected
<i>31.</i>	Taluk.	Sumi	waar	Sy. No. 476	0A-17G	North: Shivanna's Land South: Road East: Road West: Road	1.20	KTW/REG/1 /CMR /1993-94, Dtd: 05-12-1993	Waqf By User Govt. Land	Jamath	Khabrastan	custom	- 11.5	-
32.	Anjuman-e-Islamia Building, Gullenpete, ChikkamagaluruTalu k .	Sunni	Satti halli	PR No. 36.	17' X 71' = 1,207 Sq. Ft.	North: Asif Ali's Property  South: Road  East: Asif Ali's Property  West: Road	1.90	KTW/REG/1 /CMR/ 1993-94, Dtd: 04-12-1993	Muslim Jamath	Muslim Jamath	Pious Purpose	 By custom	Deem ed Appro ved	Khata Effected

33.	Muslim Khabrastan as Addl. Property of Badriya Jumma Masjid, Mallandur, Chikkamagaluru Town.	Sunni	Byara valli	Sy. No. 552	3A-08G	North: Govt. Property  South: Road  East: Govt. School  West: Road	4.50	KBW/REG/1 /CMR/ 1994-95, Dtd: 04-09-1995	Waqf By User Govt. Land.	Muslim Jamath	Khabrastan		By custom	-YES -	Khata Effected
34.	Khabrastan as Addl. Property Belonging to Dargah Hazrath ShaVali,Kundur, Ambala Hobli, Chikkamagaluru Taluk.	Sunni	Kundu ru	Sy. No. 84	1A-20 G	North: Sy. No. 83, 96.  South: Sy. No. 96.  East: Sy. No. 96.  West: Sy. No. 85.	2.00	KBW/REG/4 /CMR/ 1994-95, Dtd: 09-10-1998	Waqf By User Govt. Land.	Musli m Jamath	Khabrastan		By custom	Deem ed Appro ved	Khata Effected
35.	Eidgah as Addl. Property belongs to Jamia Masjid, Chittuvalli, Chikkamagaluru	erty belongs to a Masjid, uvalli, kamagaluru Sunni	Shirava lalu	Sy. No. 130	0A-08G	North:InamGramaKuduvalligadi and Sy. No. 130. South: Sy. No. 130. East: Sy. No. 131. West: Sy. No. 130.	4.00	KBW/REG/1 /CMR/ 1997-98, Dtd:	,	Musli m Jamath	Eidgah		By custom	-YES	Khata Effected
	Taluk.			Sy. No. 131	1A-32G	North:HuluvalliGramaGadi South: Road. East: Sy. No. 131. West: Sy. No. 130.	8.50	26-10-1998							
	Mohiyuddin Jumma			Sy. No. 279	0A-10G	North: Road. South:Mohiyuddin Jumma Masjid Property. East: Church's Property. West: A.L. Prakash's Property.	2.00	KTW/REG/6 /CMR/ 1999-2000, Dtd: 13-03-2000	Muslim Jamath		Masjid				Khata Effected  As Per CR.= 2A-
36.	Masjid, Kadabgere Village, Chikkamagaluru Taluk.	Sunni	Deva dana	Sy. No. 279/P1	2A-0G	North:Mohiyuddin Jumma Masjid .  South: A.K. Krishne Gowda's Property.  East: Church's Property.  West: A.L. Prakash's Property.	4.00	KTW/REG/1 /CMR/ 2002-03, Dtd: 03-09-2002	Waqf By User Govt. Land	Muslim Jamath	Khabrastan	2,46,291/-	By custom	-YES	As Per CR.= 2A- 0G As Per Possession 1A- 0G Less =1A-0G Khata Effected

37.	Mohiyuddin Jumma Masjid and Noorul Islam Arabic Madrasa and Muslim Khabrastan, Bhootankadu,	Sunni	Mache gondan	Sy. No. 149	40' X 60' =2,400 Sq. Ft.	North: Sy. No.149. South: Sy. No.149. East: Sy. No. 149 West: Sy. No. 149	1.50	KTW/REG/1 /CMR/ 2003-04,	Waqf By User	Muslim	Masjid and Madrasa	41,300/-	Ву	Dy I LD	Khata Effected
	ChikkamagaluruTalu k .		ahalli	Sy. No. 149	0A-30G	North: Sy. No. 150 & 155. South: Road East: Sy. No. 149/P West: Sy. No. 148	5.70	Dtd: 27-06-2003	Govt. Land.	Jamath	Khabrastan		custom	-	
38.	Jamia Masjid, Machenahalli, ChikkamagaluruTalu k .	Sunni	Mache nahalli	Khata No. 451 Asst. No. 666	92' X 61' = 5,612 Sq. Ft.	North: Road.  South: Road.  East: Channel Sy. No. 236.  West:Road.	4.80	KTW/REG/5 /CMR/ 2006-07, Dtd: 27-02-2007	Muslim Jamath	Muslim Jamath	Masjid	34,500/-	By custom	-YES	As Per CR. 100' X 100' = 10,000 Sq. Ft. As Per Possession 5,612Sq. Ft. Less = 4,388 Sq. Ft. Khata Effected
39.	Jamia Masjid, Kalsapura Village, Chikkamagaluru Taluk.	Sunni	Kalasa pura	V.P. No. 272	48' X 29' = 1,392 Sq. Ft.	North: Sabjan's House. South: Anwar's House. East: Road West: Road	1.10	KTW/REG/4 /CMR/ 2006-07, Dtd: 07-05-2007	Muslim Jamath	Muslim Jamath	Masjid	72,500/-	By custom	-YES	Khata Effected
40.	Dargah HazrathShali Deewan Wali (R.A.), Bhagatarahalli, Chikkamagaluru Taluk.	Sunni	Halasa balu	Asst. No. 429, P.R. No. 01.	193' X 87' and (54' + 58') x 144' 2 = 24,855 Sq. Ft.	North: Guruswami's Property.  South: Road.  East: Road.  West: Basayya's Property.	11.20	KBW/REG/9 /CMR/ 2006-07, Dtd: 16-07-2007	Muslim Jamath	Musli m Jamath	Dargah	17,200/-	By custom	-YES -	As Per C.R. 100'  X 50' = 5,000 Sq. Ft. As Per Possession: 24,855 Sq. Ft. Excess: 19,855 Sq. Ft. Khata Effected
41.	Masjid-e-Khaliq, Bhagatarahalli, ChikkamagaluruTalu	Sunni	Halasa balu	Sy. No. 157. Sl/Khata	50° X 70° = 3,500 Sq. Ft.	North: Mohammed Ghouse's Property. South: Mohammed Ghouse's Property.	2.20	KBW/REG/ 23/CMR/ 2011-12, Dtd: 16-11-2012	Moham med Ghouse &Kaus erUnni s, Bhagat arahalli Village	Musli m Jamath	Masjid	9,400/-	By custom	-YES	As Per CR. 55' X 60' = 3,300 Sq. Ft. As Per Possession = 3,500 Sq. Ft.

	k .			No. 411											
				110. 711		East: Mohammed Ghouse's Property. West:Road .									Excess = 200 Sq. Ft.
42.	Asthana-e-Niazia Dargah Hazrath Shah Mohammed Iqbal Ahamed Niazi, Khadri, Chisti, Fakhri, Niazi (R.A.), Sunni, InamDattatreya Village, Chikkamagaluru Taluk.	Sunni	InamD attatrey aVillag e	Sy. No. 154, 175, 176, 177 and 179  CRC bearing No. 5316	110' X 150' =16,500 Sq. Ft.	North: Mubarak Plantation.  South: Mubarak Plantation.  East: Road .  West: Mubarak Plantation	12.50	KBW/REG/ 07/CMR/ 2006-07, Dtd: 20-11-2007	Syed Muneer , S/o. Latel. Syed Ahmed Sab, Chikka magalu ru.	Musli m Jamath	Dargah		By custom	Deem ed appro ved	
				Asst. No. 331/372	55' X 34' = 1,870 Sq. Ft.	North: Asst. No. 373/338. South:Panchayiti Shop's. East: Road. West:Kariyamma Temple Vacant Land.	2.10				Masjid				As Per C.R. 47'  X 34' =1,598 Sq. Ft. As Per Possession 1,870 Sq. Ft. Excess= 272 Sq. Ft. Khata Effected
43.	Jamia Masjid, Lakya, ChikkamagaluruTalu k .	ChikkamagaluruTalu	Sunni Lakya	V.P. Asst. No. 373/338	88' X 34' = 2,992 Sq. Ft.	North:RumanBaig's House. South: Asst. No. 331/372. East:Road . West: Road.	3.20	KBW/REG/1 /CMR/ 2007-08, Dtd: 22-08-2008	Muslim Jamath	Muslim Jamath	Dargah	62,500/-	By custom	-YES -	Khata Effected
				V.P. Asst. No. 373/332	28' X 23' = 644 Sq. Ft 82' X 42' = 3,444 Sq. Ft. Total: 4,088 Sq. Ft.	North:RumanBaig's House & Appanna Vacant Site. South:Kariyamma Temple East: Asst. No. 373/332. West: Panchayath	5.00				Shadi Mahal				As Per C.R. 46' X 88' =4,048 Sq. Ft. As Per Possession 4,088 Sq. Ft. Excess= 40 Sq. Ft. Khata Effected

						Road.									
44.	Madeena Masjid AhaleSunnathulJamat , Baskal Village, VastareHobli, Chikkamagaluru Taluk.	Sunni	Baskal	Asst. No. 244	42' X 77' = 3,234 Sq. Ft.	North: Road South:Isak Ahamed's Property. East: B.S.N.L. Tower. West:Isak Ahamed's Property.	6.80	KBW/REG/ 11/CMR/ 2010-11, Dtd: 23-10-2010	Moham med Shareef S/o. Late. Haji Abdul Jaleel, Baskal Village	Muslim Jamath	Masjid	14,900/-	By custom	Deem ed Appro ved	Khata Effected
45.	Mohiyuddin Jumma Masjid and Muslim Khabrastan, Sirvase Village, JagaraHobli, ChikkamagaluruTalu k.	Sunni	Sira vase	Sy. No. 292/P2	1A-0G	North: Sy. No. 292 Remaining Land. South: Sy. No. 292 Remaining Land. East: Sy. No. 292 Remaining Land. West: Road Sy. No. 292 Remaining Land.	2.00	KBW/REG/ 22/CMR/ 2011-12, Dtd: 10-10-2014	Waqf By User Govt. Grant	Muslim Jamath	Masjid and Khabrastan	17,000/-	By custom	-YES -	Khata Effected
46.	Jamia Masjid and Muslim Khabrastan, Mallenahalli, Chikkamagaluru	Sunni	Bindig	Sy. No. 93	0A-17G	North: Remaining Land of Sy. No. 93. South: Remaining Land of Sy. No. 93. East: Remaining Land of Sy. No. 93. West: Sy. No. 239, 240 and Chikkamagaluru to Santaveri Road.	1.70	KTW/REG/9 /CMR/ 1987-88,	Muslim Jamath	Musli m Jamath	Masjid	36,000/-	Ву	Deem ed	As Per CR. OA- 07G, As Per Sketch and Possession 0A-17G Excess: 0A-10G. Khata Effected
	Taluk.		a	Sy. No. 229	2A-17G	North: Remaining Land of Sy. No. 92. South: Remaining Land of Sy. No. 92. East:Chikkamagaluru to Santaveri Road and Bandidari. West: Remaining Land of Sy. No. 92.	4.50	Dtd: 02-11-1988	Waqf By User Govt. Land.	Musli m Jamath	Khabrastan		custom	Appro ved	Khata Effected

Total No. of Institutions : 46 Total No. properties : 86

Total extent in A-G : 59A -35½G.

Total extent in Sq. ft. : 2,86,791.55 Sq.Ft.

By Order and in the Name of the Governor of Karnataka

(C.PUTTANANJAIAH), Under Secretary to Government, Revenue Department (SSLR)

. .